- X + 500 = 2000

- X + 500 = 2000

- X + 500 = 2000

- X + 500 = 2000



3Haro

He 3naro

VY3uan

Cymma

Cnaraemoe

Ornpeznenenue ypaBHEHUS

Pasuocts

Kopenb

MHoOXuTeNb

YMeHnsinaemoe

Breruuraemoe

[IpousBenenue

CBoOMCTBA CIIOKEHUA

CBoIiCTBA BEIYUTAHUS

3Haro

He 3naro

VY3nan

Cymma

Cnaraemoe

OnpeneneHne ypaBHEHUs

Pasuocts

Kopenp

Muoxurenn

YMeHnbIinaemMoe

Breruuraemoe

IIpousBenenue

CBOIICTBA CIIOKEHUA

CBolicTBa BEIYUTAHUS

3Haro

He 3naro

VY3uan

Cymma

Cnaraemoe

Onpenenenue ypaBHEHUA

Pa3noctn

Kopenn

MHuoxuTenn

YMeHnsbiaemoe

Berautaemoe

[IpousBenenue

CBoiicTBa CI0KECHUS

CBoWcTBa BEIYUTAHUA




3 - x+ 500 =2000




85—z =36, 3x+ 6, 2041 —n = 786,
(2+x)+14, (15—x) +4, 156 +y =218,
(x +52)-4;,x+37=385 m-94 =18,
p — 7698 = 2302,

85—z =36, 3x+ 6, 2041 —n = 786,
(2+x)+14, (15—x) +4, 156 +y =218,
(x +52)-4;,x+37=385 m-94 =18,
p — 7698 = 2302,

85—z =36, 3x+ 6, 2041 —n = 786,
(2+x)+14, (15—x) +4, 156 +y = 218,
(x +52)-4;x+37=285 m-94=18,
p — 1698 = 2302,

85—z =36, 3x+ 6, 2041 —n = 786,
(2+x)+14, (15—x) +4, 156 +y = 218,
(x +52)-4;x+37=285 m-94 =18,
p — 1698 = 2302,

85—z = 36, 3x+ 6, 2041 —n = 786,
(2+x)+14, (15 —x) + 4, 156 +y = 218,
(x +52)-4;x + 37 =285 m—94 =18,
p — 7698 = 2302.

85—z = 36, 3x+ 6, 2041 —n = 786,
(2+x)+14, (15—x) + 4, 156 +y = 218,
(x + 52) -4; x + 37 =85, m—94 = 18,
p — 7698 = 2302.

85— 7 = 36, 3x+ 6, 2041 —n = 786,
(2+4x)+14, (15—x) + 4, 156 +y = 218,
(x+52)-4;x +37=85m—94=18,
p— 7698 = 2302.

85—z = 36, 3x+ 6, 2041 —n = 786,
(2+x)+14, (15—x) + 4, 156 +y = 218,
(x +52) -4; x + 37 =85, m— 94 = 18,

p — 7698 = 2302.

85— 7 = 36, 3x+ 6, 2041 —n = 786,
(2+x)+14, (15—-x) + 4, 156 +y = 218,
(x+52)-4;x +37=85m—94=18,
p— 7698 = 2302.

85—z = 36, 3x+ 6, 2041 —n = 786,
(2+x)+14, (15—x) + 4, 156 +y = 218,
(x+52)-4;x + 37 =85 m—94=18,
p— 7698 = 2302.

857 = 36, 3x+ 6, 2041 —n = 786,
(2+x)+14, (15—x) + 4, 156 +y = 218,
(x + 52) -4; x + 37 = 85, m — 94 = 18,
p — 7698 = 2302.

85 7 = 36, 3x+ 6, 2041 —n = 786,
(2+x)+14, (15—x) + 4, 156 +y = 218,
(x +52) -4: x + 37 =85 m—94 =18,
p— 7698 = 2302.

85—z =36, 3x+ 6, 2041 —n = 786,
(2+x)+14, (15—x) +4, 156 +y = 218,
(x +52)-4;x+37=85 m-94=18,
p — 1698 = 2302,

85—z =36, 3xt+ 6, 2041 —n =786,
(2+x)+14, (15—x) +4, 156 +y = 218,
(x +52)-4;x+37=85 m-94 =18,
p — 7698 = 2302,




